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fork() example

#include <sys/types.h>
#include <unistd.h>
pid t fork(void); /* EEMAZ FAl */

fork()7t @ =k STt ZENATL F JHE SAE| O
A3l <l f
> H0ot A ZEAAS T2B17| 9I5t0] HIBIZHS ZASOF &
20 = MA9| fork()&= AtA EZ M| A Q| process id(pid)E 2| H
KA Z2 M2 9] fork()= <At 0= 2[H
] -> -1
#include <unistd.h>
#include <sys/types.h>

pid t pid;
pid=fork(); /* copy new process */
if (pid==0) {
/* new process code here */
}
else(
/* parent code here */
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pid t processID;
for (;7) {

if (clntSock = accept(servSock, (struct sockaddr ¥*)
&echoClntAddr, &clntlLen)) < 0)
DieWithError ("accept () failed");

if ((processID = fork())<0)
DieWithError ("fork () failed");

else if (processID == 0) { /* KAZZMA: SESI0[ME M| */
close (servSock) ;
HandleTCPClient (clntSock) ;
exit (0);

}

/* BR Z2MA : BIEXo=Z ZE0|HES HES X2l +/
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Pthread

POSIX thread

» POSIXOIA EZE O 2 X|QHSH thread St set
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Thread A1/

int pthread create(pthread t * thread,

11

const pthread attr t * attr,
void * (*start routine) (void *),
void *arqg);

pthread_t thread
> HHEl A E IDE XYY H
pthread_attr_t attr
» Set to NULL if default thread attributes are used.

void * (*start_routine)

» pointer to the function to be threaded.

» Function has a single argument: pointer to void.
void *arg

» pointer to argument of function
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pthread example()

#include <pthread.h>
#include <stdio.h>
#include <stdlib.h>

#define NUM THREADS 5

Output

void *PrintHello (void *threadid) In main: creating thread 0

{ o
int tid; In main: creating thread 1
tid = (int)threadid; Hello World! It's me, thread #0!
printf ("Hello World! It's me, thread #%d!\n", tid); In main: creating thread 2
pthread exit (NULL) ; ,

} - Hello World! It's me, thread #1!

Hello World! It's me, thread #2!

?nt main (int argc, char *argvl]) In main: creating thread 3
pthread t threads[NUM THREADS]; In main: creating thread 4
int rc, t; Hello World! It's me, thread #3!
for (t=0; t<NUM THREADS; t++ ,

or ( ) Hello World! It's me, thread #4!

printf(TIn main: creating thread %d\n", t);

rc = pthread create(&threads[t], NULL,
PrintHello, (void *)t);
if (rc){
printf ("ERROR; return code from pthread create() is %d\n", rc);
exit (-1);
}

}
pthread exit (NULL) ;
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#include <pthread.h>
pthread t tid;
void *do thread(void *arg);

for (;;) {

if (clntSock = acSept(servSock, (struct sockaddr *) &echoClntAddr, &clntlen))
< 0)

DieWithError ("accept () failed");
if (pthread create(&tid, NULL, do thread, (void *)clntSock) < 0 )
DieWithError (“thread create () failed”);

void *do thread(void *arg)
{
int csock;
csock=(int)arg;
HandleTcpClient (csock) ;
pthread exit (NULL) ;
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/* MEl A& A Z7(8F A
SOCKADDR IN serv;

memset (&remoteaddr, 0, sizeof (remoteaddr));
serv.sin family = AF INET;

serv.sin port = htons(9000);
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serv.sin addr.s addr = htonl (INADDR BROADCAST) ;

/* 27E HEEINARI0| JISES 8F +/

int broadcastPerm = 1;

1f (setsockopt (sock,SOL SOCKET, SO BROADCAST,
sizeof (broadcastPerm)) < 0)

16

SbroadcastPerm,
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